1. 729 op5e] A4 etolat
> = il

> He D 1274

72 = 23 x 32
oF 9] e 4 x 3 =12 (FH) ]t




32 x 53 ©] ofZo] A4

= (24+1)x

(3+1) =12 () °lth.




Fod 361} 56 2] 2|

273

o]

-

ul




45,72

.

ull




5.

2UoR471 7 ) 5 A1 A, B of sl g 4ol 4

ojm|, = 4= A, B 9] H 2 Hl4E okt

s

his

o}

AX B =490
> =
> =g 70

490 = 7x (quuw)
whabA 24 gHl4E 70 o},




= X s1iNe)
& 59 F29

= o] ATt 5, H2FoR47H60 2 o,

6.

® 400

@ 350

o
= 5x 60
THepA] 5 429] 52 300 ©]H.

S
(549 8)




12

-

ul

A 168 = 23 x 3 x 7°|th

S| 5]

2+3+7=12




>
> Hehl 10

60 =2%x2%x3x5=22x3x5 0|22
20142, 3, 50|t}
wabA 4Q140] §-8 2 4+ 3+ 5 =10 o|t}.




olf AdE 3 22 WEH 1 o] FAL 4 2 YR 2 7 deral
et} oot g WSt Ay § 7P A2 5 oY
@10 @ 12 ® 8 @ 22 ® 14

o= =3, 4 B U o 2 7F HES fo]BR

(3 4 9 FHj)-2 & ol

3, 4 9] HAZu|57t 12 o|BE 7P &L A4 12-2 = 10
oJtt.

* 10




10. A 2412 15, 20, 24 9] o] 710 2 -0l & LHro] Hol 2]l 2palss
SOl 7P 22 & oY

@ 15 @ 80 @120 @ 164 ® 210

Fote 5 x AL ot x & 15, 20, 24 & FHjfolth 1
SNA 71 22 = Al 9] FAaFujao| B 15, 20, 24 9
F| A3 Hl 4= 120 o]t




